The Minutes, Part 2
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Notice! The hour o 0 .
hand looks likeit is 0/ 117 TN,
pointing to 2. But the
minute hand has

8 4,
not yet reached N 6 &/
60 minutes, so it is ¥ P
not yet 2 o'clock!

We still say itis 1 hour (and some minutes).

The minute hand is at 45.
Thetimeis 1:45.

Another example. I
The hour hand looks 0/ N7 T\
likeit is pointing to 10. 10& 2‘3
But the minute hand
has not yet reached

60 minutes, soitis -
not yet 10 o'clock.
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We still say it is9 hours (and some minutes).

The minute hand is at 55.
Thetimeis 9:55.

1. Choose the correct time.

m12 g

Isit 1:50 or 2:50?

Isit 2:45 or 3:45?

Isit 6:55 or 7:557?

2. Draw the minute hand to match the given time. The hour hand is already drawn.

Mz o7 m2 oy

I 1= q i A2 o

10 2 10 2 10 2 10 2
9 / 3 9 - 9 — 3 -9 3
8 4 8 4 8 4, .8 / 4
7 1) 5 .7 o) 5 7 6 5- .7 6 5-
a 1:35 b. 2:45 c. 3:15 d. 6:55
12 7 112 112 m12
10 2 10 2 10 2 ‘10 I )
9 3 9 3 9 3 9 3
.8 \ 4, .8 / 4 .8 / 4 8 4
.7 6 5- .7 6 5- .7 é 5- -7 6 5
e 5:30 f. 740 g 7:35 h. 12:20
Sample worksheet from o Clock (Blue Series)
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